

Leibnitz's Theorem: Example Most Important

$$y = a \cos(\log x) + b \sin(\log x)$$

show that

$$x^2 y_{n+2} + (2n+1)x y_{n+1} + (n^2+1)y_n = 0$$

$$y = a \cos(\log x) + b \sin(\log x)$$

$$y_1 = a [-\sin(\log x)] \cdot \frac{1}{x} + b \cos(\log x) \cdot \frac{1}{x}$$

$$xy_1 = -a \sin(\log x) + b \cos(\log x)$$

$$xy_2 + y_1(1) = -a \cos(\log x) \cdot \frac{1}{x} + b (-\sin(\log x)) \frac{1}{x}$$

$$= \frac{-1}{x} [a \cos(\log x) + b \sin(\log x)]$$

$$x^2 y_2 + xy_1 = -y$$

$$x^2 y_2 + xy_1 + y = 0$$

$$(x^2 y_2)_n + (xy_1)_n + y_n = 0 \quad \text{--- (1)}$$

$$\begin{pmatrix} x^2 & y_2 \end{pmatrix}_n$$

\downarrow \downarrow
 u u

$$(uv)_n = {}^n C_0 u_n v + {}^n C_1 u_{n-1} v_1 + {}^n C_2 u_{n-2} v_2 + \dots + {}^n C_r u_{n-r} v_r + \dots + {}^n C_n u v_n$$

$$= {}^n C_0 y_{n+2} \cdot x^2 + {}^n C_1 y_{n+1} (2x) + {}^n C_2 y_n (2)$$

$$= y_{n+2} x^2 + 2nx y_{n+1} + n(n-1) y_n \quad \text{--- (i)}$$

$$\begin{pmatrix} x y_1 \end{pmatrix}_n$$

\downarrow \downarrow
 u u

$$(uv)_n = {}^n C_0 u_n v + {}^n C_1 u_{n-1} v_1 + {}^n C_2 u_{n-2} v_2 + \dots + {}^n C_r u_{n-r} v_r + \dots + {}^n C_n u v_n$$

$$= {}^n C_0 y_{n+1} x + {}^n C_1 y_n = x y_{n+1} + n y_n \quad \text{--- (ii)}$$

Put (i) and (ii) in (1)

$$x^2 y_{n+2} + 2nx y_{n+1} + n(n-1)y_n + x y_{n+1} + n y_n + y_n = 0$$

$$x^2 y_{n+2} + (2n+1)x y_{n+1} + (n(n-1) + n + 1)y_n = 0$$

$$x^2 y_{n+2} + (2n+1)x y_{n+1} + (n^2 - n + n + 1)y_n = 0$$

Hence
Proved

$$x^2 y_{n+2} + (2n+1)x y_{n+1} + (n^2 + 1)y_n = 0$$